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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

Theg, number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Qus ‘A’ SECTION ‘A’

1.(a) o firgead ¥ grr wearfia afnt © AW e @ we S R TEre
H frearfeq AT e ® |

Elucidate the three categories of roles which a manager has to perform as suggested
by Henry Mintzberg. , 10

1.(b) EIEAHE GRade & R & W@ |l SH-s @ § ? 6 @ 9rat @ 95
i ok W vkt A aw F A F a6 @ i AR | T NG wEmE
F &9 #, e weEme ft ywEguiar ) feeht Hifte |

What are the main sources of resistance to organisational chahge ? Select any two
sources and outline the ways of overcoming such resistance. Comment upon the
effectiveness of role negotiation as an OD intervention. 10

1.(c) o radq 3R Fd gada St wan foow yoR et ok B Sen § geew
Bidl § ? oAl &t waIiat & forg s sfinikon R qeer § siasfa sifinion
F SgFT i wfvr o @ 2

How do practices like job rotation and job enrichment aid in the raising of employee
motivation ? Why do organisations find it more difficult to enhance intrinsic
motivation than extrinsic motivation for their employees ? 10

1.(d) Tt a0 & o g o 1 w9 wmGe T v aiftge R o € 2 wvea e
TR WirSIgEs gEaT 3R EWadi gEar SuEl @l Wt aKd € 7

How are selection criteria identified for a given job validated ? How do organisations
apply predictive validity and concurrent validity measures ? 10

L.(e) HIA VWRIFER (IEH) ¥ Offa Swa & amameRw, s@a fasher sed
Wwﬁmmﬁmﬁ%q@uﬁ,wmﬁm
&1t Attt w1 € ? 3% Sfeatad FIA ik = gl 1 vey @R ¥ adet

e g Qo |

In the emerging scenario of IT enabled work environment, highly dynamic external
business environment and changing workforce expectations, what are the future
challenges for human resource management ? Specify and suggest ways of managing
these challenges. 10
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2.(2) AU WIS Sl FifSd IGHEAT aF o T & ford ©F veus m ffim e a3
H YART I ThdT & Ieeht faa=ar i | foemr & iRl R &g am & adet

H gAE QIO |

Discuss the various types of “Control Mechanisms” a manager can apply in order to
take his organization to desired excellence. Suggest ways to overcome resistance to
control. 20

2.(b) ‘g Ffcfied # 9@ T Faw FURed B, I8 WIS A WME WIfd & o
AEEE W B || 30 YA T ATASAIHS TIE0 HIA | FE(cHed S qA1d & &R

F o9, TR FFeR AR e | 998 3R & ded #, K wE il |

“Not only is stress inevitable in modern work life, it is also necessary for human
progress in organisations”. Critically examine this statement. Distinguish between
the levels of functional work stress in terms of their effect on employee behaviour

and performance. 15

2.(c) U SAKITIA WG GETEH Yeigd & ford stavas a@ R YR R @eA & ol
Aravas awat @ e § 7 siRfgi @edt gRT Sgaiestas nl & way Ht g
YR sFafedd sl 9T a1fey |

How do the requisites for successful international human resource management
differ from those in case of a domestic organisation ? How should the challenge of
managing multicultural teams be managed in international organisations ? 15

3.(a) TS T IR Afiheat & W fufket At fae fifR | g # s g e
e Afreheqer & fasher SRR WG &t waTfeq @Rd €, SWRA ESATHS
Aftrrogant A Aferdt F |/, W TS AfHFET qUT AW G TISA
arfirepege & wreat W feaft fafag |
Discuss the key determinants of organisational structure and design. Among the
emerging organisational design trends, comment upon the virtual organisation design

and learning organisation design formats, briefly explaining the influence of
organisational design choices on employee involvement. 20

3.(b)  ‘‘vEHA % & § T WA &k ARG ga Tafing SR s wed € | 36 e
fargeraor sy 3R wara & 14 fagat it gwaAT |
“Henri Fayol’s contributions to the field of management are very distinctive and are

highly appreciated”. Analyze the statement and explain the 14 principles of Fayol.
15
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3.c) Wi srasaedr sehed, Tt @eA & il wa fawa womedt d aeer & o
Hewyul vee € | Tt et geam & for, <t fesfiea w9iaRor & TR @1 @, Wik
AraTFEAT AEAT H fea faEmeit @ wEw fem o wwar § 1 TR SR widew
HEATHATHAT &1 3Tehel 81 ST R 39 T Frcamenes ittt s &1, I
qui FfR |

Training need assessment is one of the most important aspects of planning the
training and development system for any organisation. What are the approaches that
can be applied for training need assessment in case of a government organisation that
is undergoing digital transformation ? Describe the instructional strategies that you
would recommend once the training needs have been assessed. 15

4.(2) EBATE GEHa 3R Frearey wcel F fasedt S Radaaiar wReE, R wER
freft froares waem womelt Y SfdrEreder R FHEN H WWIfad oRd € ? U
FrETET FHARET 3R Sced vEEE ¥ e yaEa @ wWel §9 F 9 & Tl
It form weR A frsareT STHEIRET B savasar e ? 3 Q et § g
e i 41 Bl 38 R AT fewul R |

How do variables like organisational culture and choice of performance criteria
affect the design and functioning of a performance management system ? What are
the types of performance information you would require to effectively carry out
performance management for your shop floor workers and your production
manager ? Critically comment on why the information requirement differs for the

two situations. 20

4.(b) I H EEAT 3 AfKh & P A ATUR, Selor AT FAATH, Aftreh wwret fg ge € 3k
T4t ? Ifud Sereull d FeEdr ¥ A9 ST H FAlAT RS | TS 7 auftheT &
ERT Afth &1 U A Y FSHIEAT R AT feovlt i |

In the present day organisations, which bases of power, coercive or persuasive, have
proved to be more effective and why ? Support your answer by taking suitable
examples. Comment critically upon the desirability of multiplying power in
organisations through empowerment. 15

4.(c)  SuNrH fowrs awget i Fut F o uw Afvas wrawm vEuE # A =uR
AR T FEET A AR AherdTqdeh aifed ol & 9 & o wiige-wieshis
Fitemur & T wehl A W A A ATl ?
What are the factors of cross-cultural classification a global business manager of a

consumer durables company should consider for managing in global environment
and being successful to achieve desired profits ? 15
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qusg ‘B’ SECTION ‘B’
5.  wmGar R TR A, faska 7o iR R & W @ e oY & o, SmT-
AET-aw (EdY) foveror 0 e foh weR fmar s odeRar © 2

How can Cost-Volume-Profit (CVP) analysis be used to assess the effect of changes
in sales volume, sales price and costs on profitability. 10

5.(b) GAAP # QUi wardlawur & figia & wewm #1 © ? 9% g vor frfig e &
T St WA T § ?
What is the significance of the full disclosure principle in GAAP ? How does it
impact financial statement presentation ? 10

5.c) ‘g9 Fwq vate 3R ‘gfgAm et e’ # SR wE AR | afgrm T wae
$ i w91 € 7 99 & Aol warel # fawer ara 3Rk S Safeg ¥ wimes
H AT |

Distinguish between ‘Total Cash Flow’ and ‘Incremental Cash Flow.” What are the
limitations of Incremental Cash Flow ? Also explain the treatment of sunk cost and
allocated overheads in cash flows. 10

5.(d) ewamfyE faavm # @ fawve Uw agq @wa oMt ® | 38 S o gedieA
Fifd | g fouvm & fafimr st A = fife |

“Holistic Marketing is a very successful strategy in contemporary marketing”.

Evaluate the statement. Discuss the different dimensions of Holistic Marketing.
10

5.(¢) UF w@Ra fasha Iauig ol (UH.TH.HLS. Sodt) & fauum svRa veus & &9 &
AR U A fauvE &9 & ford fagvm dismr awrt 1 3@ T & & oy Ravm
o & faftrer wew w-w e M | g deet & o aeen smma |

As the GM-Marketing of an FMCG company you have to make a ‘Marketing Plan’
for a new marketing territory. What shall be the various components of marketing
plan which you will make for your company in respect of this new territory ? 10

6.(a) TS HYAI H HoAT ANAUA fAFATIRad 3ihe € @I ®

awra wfa st 4

AT AT 52-00
qgd qH 19-50
Iufceag 39.00
Fel AN 110-50
AT 19-50
fasa 7= 130-00
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6.(b)

freafafea sfifes smeRt st Sueey € -

Wi § 3aa Fea1 A : 1 W®
éﬂaﬁﬁa@ﬁr%&z : 2 HIg
oG AW AR ;. $g WHTe
Sufera :  U& W

wF 9 i TEe AUR W) ¥ 3R nfda et wgee 1,20,000 ¥ |

70,000 THEAT & I M o 3 F FoR, smavaw wEife g @ feam e
ATTR TF TR0 SAET B | AT T8 WA G § T IAGT TH €T F 9 W A @
% R ol wd SuRera ft T T A W A @ ¥ |

A proforma cost sheet of a company provides the following data :

Cost per unit 4

Raw material 52-00
Direct Labour 19-50

Overheads 39-00
Total Cost 110-50
Profit 19-50

Selling Price 130-00

The following is the additional information available :

Average raw material in stock  : one month

Credit allowed to debtors : two months

Time lag in payment of wages : one and a half weeks
Overheads : one month

One fourth of the sales are on cash basis.
Cash Balance is expected to be ¥1,20,000.
You are required to prepare a statement showing the working capital needed to

finance a level of activity of 70,000 units of output. You may assume that production

is carried on evenly, throughout the year and wages and overheads accrue similarly.
20

A drTd FaRor #=1 § ? vEy a@ied § 5aw YART R WeR AT ® 7 T Sl
fra yoRr fraeia ok sl fa=mol # 3@ o) gadl § 3R 30 3R & 3MER
R F d WS FEareal S ST gl © |

What is standard costing ? How is it used in management accounting ? How can a
company differentiate between controllable and uncontrollable variances and what
strategic actions can be taken based on this distinction ? 15
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6.(c) “well yaR fadfed SR, UF wewyl skt @ f i W wwy § ok
o us fafde s & o |

3 F H faweww HR ok s fafler o & R SR B 3 R w
SRl F ThAgEes fadifea frm s wwar € )

“Well differentiated products create a significant competitive advantage and a
distinctive aura for themselves.”

Analyse the statement and discuss the various attributes on the basis of which
products can be successfully differentiated. 15

7.(2) R Tofits ww fear wfsm i domr @ @ 2 et 30 |Wie @ @i sk
ﬁmﬁﬂwﬁmﬁh%ﬁwﬁﬁ%%ﬁ@%mﬁmmm%:

1. %100 Wit ¥R & &9 g7 R Rl @

2. 15% W RO oFT, 3R
3. 12% R Aftmm WRY #1 e

A YT Golt 60 I T ¥ AR z@eht A SAAE A, 1298 T 2|
T B R 30% W S FHEA ¢ | FER Ao F g o ¥ ae, s
AL 1S T Bt | Wit AN fredo fewt ¥ f Sdom, @
aRerer o, 78 Fa g T P @ foew Seramat @ aftean weam (Rest)
S | Efehdt W et SR T gRT feradiew (Swdeh freer 1 wd feew 2) fredt
% st SgEia fag &1 W ko Hifer

Sunder Ltd. is planning an expansion programme which will require ¥30 crores and
can be funded through one of the three following options :

1. Issue equity shares of ¥100 each at par
2. Raise a 15% loan, and

3. Issue 12% preference shares

The present paid up capital is T60 crores and the annual EBIT is Z12 crores. The
tax rate may be taken at 30%. After the expansion plan is adopted, the EBIT is
expected to be 15 crores. Calculate the EPS under all the three financing options
indicating the alternative giving the highest return to the equity shareholders. Also
determine the indifference point between the equity share capital and the debt
financing (i.e. option 1 and option 2 above) 20
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ﬁ.q.ﬁ.@.%éaﬁﬁﬁamwaﬁ%?mﬁugaﬁw@asﬁ%mm
W*W%W&Hﬂﬁ'{ﬂjﬂﬁﬂkﬂ%@%@@ﬁﬁ%ﬁﬁﬁﬁ%ﬂ
T |

What is beta in the context of the CAPM ? Explain how it measures systematic risk.
Discuss the beta values and their implications for asset pricing. 10

7.(b)

%ﬁﬁaamﬁ(w.@.ﬁ)%ﬁ&ﬁ@m%ﬁmmﬁ%ﬁmm
g G FA & T U@ HECE ol G oA dfed ?

St @dem & =1 & fads fif’ | I T & GHIA H IqIR
afs |

What are the key criteria the marketing manager of a company dealing in light motor
vehicle (LMV) category should consider for effectively segmenting a market ?

7.(c)

Discuss the variables under the demographic segmentation. Give examples to
support your answer. 20

Q.ﬁ.ﬁ.ﬁﬁ%@%ﬁ%&ﬁﬁﬁwmmﬁ%a@mﬁmaﬁ.ﬁ.ﬁﬁ%@aﬂ%

8.(a)
et @ HaR e e Rt # | waE, fifRe 3 07.04.2022 W fei w

et frar 3k SOt 7 S Gt @ sha R | Gefia o s e o R
AT HET ST Gl ® | s frefafad g ek STaey €
T
Tz 2021-22 (%) 2022-23 (%)
BT CED 30,000 32,000
3IuR st 2,70,000 | 3,00,000 | 3,42,000 | 3,74,000
HerT ; fa 7 & Av 2,36,000 2,98,000
Fohel TS 64,000 76,000
T : qRETe T :
(i) "SR 13,000 14,000
RLER 6,000 10,000
(iii) VTR 19,000 19,000
(iv) fesht 11,000 | 49,000 | 14,000 [ 57,000
qg H 15,000 19,000
PHKM-U-MGT 8
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wafe ©a T@am 2021-22(%) 2022-23(%)

e qula (A¢ i) - | 30,000 - | 40,000
wrftra 50,000 82,000
d% § el 10,000 7,000
wih 60,000 94,000
FA A qUrT 1,20,000 1,83,000
Tgamn 50,000 76,000
A =T Tl () 50,000 76,000

Fo i geit (& - 6 uer) 70,000 1,07,000

fraer gufs 1,00,000 1,47,000

wiifafies & € .
(i) MR goH 75,000 75,000
(i) IRféaa sk srfyQw 25,000 42,000 |
(iii) fea=r = 30,000
1,00,000 1,47,000

af 2021-22 3R 2022-23 & o} a9 N Frefolea st &1 ST w2

(i) &l 9 ST
(ii) wRerem =@ & fasha sara
(iii) IR=TEE @9 U

(iv) ot edeiter sigara

(v) &% TSR I

(vi) g 99 ¥ Yg T I
(vii) wifr gorewr safy

fges oot & wafia sure o & sid RGN W amaia @Y IRy | 2HF ast %
SAE F SR F FRW AT | 9§ 2021-22 F R P w@iw @ 210,000

A | Y R &9 T © |
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Directors of ABC Ltd. wish to diversify. Presently, ABC Ltd. is into selling finished
goods from its own godown. ABC Ltd. issued debentures on 07.04.2022 and
purchased fixed assets on the very same day. The purchase prices are assumed to
have remained stable during the concerned period. Following financial information

is available to you.

INCOME STATEMENT

Particulars 2021-22 ®) 2022-23 X)
Cash sales 30,000 32,000
Credit sales 2,70,000 | 3,00,000 | 3,42,000 | 3,74,000
Less : Cost of goods sold 2,36,000 2,98,000
Gross profit 64,000 76,000
Less : Operating expenses :

(i) Warehousing 13,000 14,000
(i) Transport 6,000 10,000
(iii) Administrative 19,000 19,000
(iv) Selling 11,000 49,000 14,000 57,000

Net profit 15,000 19,000

BALANCE SHEET
Assets & Liabilities 2021-22(%) 2022-23(%)

Fixed Asset (Net Block) - 30,000 - 40,000
Receivables 50,000 82,000
Cash at Bank 10,000 7,000
Stock 60,000 94,000
Total Current Assets (CA) 1,20,000 1,83,000
Payables 50,000 76,000
Total Current Liabilities (CL) 50,000 76,000
Working Capital (CA —CL) 70,000 1,07,000
Net Assets 1,00,000 1,47,000
Represented by :

(i) Share capital 75,000 75,000
(ii) Reserve and Surplus 25,000 42,000
(iii) Debentures - 30,000

1,00,000 1,47,000

PHKM-U-MGT
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You are required to calculate the following ratios for the years 2021-22 and
2022-23 :

(i) Gross Profit Ratio
(i) Operating expenses to sales ratio
(111)) Operating profit ratio

(iv) Capital turnover ratio

(v) Stock turnover ratio
- (vi) Net profit to Net worth ratio

(vii) Receivables collection period

Ratio relating to capital employed should be based on the capital at the end of the
year. Give the reasons for change in the ratios for two years. Assume opening stock
of 10,000 for the year 2021-22. Ignore taxation. 25

8.(b) (i) 93, SO &g 3R fRman @de & &= oy fom yaR w9« 2
(i) T aRferfat & fosft ofk wgr amaeh o Se feer € 2

(i) How would you choose among leasing, leveraged buying and hire-purchase ?
6

(i1) Under what conditions ‘sale and lease back’ is a preferable option ? 4

8.(c) ‘o WPl % Werew & wWF G0N GEWl & He SEHT SO o § | 36
& ITellw §, TN G99 F THRI H TE I | Wit T & wered vq frarfatmt
F gAE QT |
“While managing Marketing Channels issues of Channel Conflicts often occur.”

In light of this statement, elucidate the types of Channel Conflict. Suggest the
mechanisms to manage Channel Conflict. 15
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